1. Find a positive and a negative coterminal angle.
Give answer in radians, in terms of 7, in reduced form.
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2. Convert to radians.
Give answer in terms of 7,_in reduced form.
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The parent function: Y=SINX

Amplitude= ¢
1

Period=

21 ,

Eq of Midline:

y=0

3. Find the exact value of each.

a) Sin(-930°) b) Tan 3%
= 656
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y = asinbx
\a\= Amplitude Notes

a<0 is an x-axis reflection (upside down)

b —— Period= —
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4. Find the Period of each Sine function.

a) y = 4Sin6x b) y = -118in<- =4 x
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Period = 8. Period =

Sketch one period of the graph of y=3sin4x
Period = Label the coordlnate(n_pf all x- gtercepts minimums, and maximums.
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Sketch one period of the graph of

= -5S|n( 5 )

Label the coordinates of all x-intercepts, minimums, and maximums.
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Write the equatlon of this sine functlon
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Write the equation of this sine function.

y = aSinbx
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Another way
to find b. b= # of periods in 2n
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Amplitude = 2 a=2
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